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(A) 0.2V~0.7V (B) 1.OV~15V (C)3V~5V (D) 4.75V~5.25V
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3.0 ) TERSERRE Y - (B E 22 F 0 HRZEVDHET - M ? [93 4]
(A) SSI > MSI > LSI > VLS| (B) VLSI > ULSI > LSI>MSI (C) ULSI > VLSI > SSI
>LSI (D) ULSI > VLSI > MSI > SSI
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(A) Bz 24 (B) FHELZ4 (C) EEZLE (D) 4RMEZ4%

6. [ ] =#i A NAND gate > fitk{CE E{a] 2
(A)y=ABC (B)y=A+B+C (C) y=ABC (D) y=A+B+C
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(A) FZ52H (NOR)  (B) i (OR)  (C) KL (NAND) (D) B2 (AND)
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(A) HEfLERTHY 1kHz 7508 (B) MEAL% %My 1kHz 752 (C)1 (D) O
11. [ ] =#i A XNOR gate [l -H AR 8 B {a] 2

(A)y=ABC (B)y=A+B+C (C) y=A®B®C [D)y=A®BDC
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1 FAFRCEES W+ WX + WXY + WXYZ =

(A)WXYZ (B)1 (C)0 (D)W

) REBEAAMR(CE (Boolean algebra) - 4+ 4 F*

(A) 4+B (B)A+B (C) 4+B (D) 4+8B

] THIREEEER T - A AR (universal gate) 2§ ?

(A) XNOR (B) XOR (C)NOR (D) OR
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(A)X+1=1>X+X=X B) X+X=1*XX=1 O x.x=x-x=x (DX

+0=X>X1=X
A
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(AJA+BC (B)A+B (C)B+C (D)AB+C

] FOBE R AR 0 F = A+ B+ C+ D > R ARY NOR Rz
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(A)6 (B)5 (©)4 (D)3

1 @ NAND = NOR Fe2HEC S MHE: (NOT gate) - NHIMAIfEREAARR 7
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(A) 4B+ AB=A (B) 4B+ 4B=B (C) A+B+4B=4 (D) A+B+AB=B
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(AJAB+CD (B) A-B+C-D (C)(A+B)(C+D) (D) (4+B)-(C+D)
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(A) ABC+ ABC (B) ABC (C)ABC (D)1
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(A) f(A,B,C)=%(0,2,4) (B) f(A,B,C)=X(1,3,5,7) (C) f(A,B,C)=2(1,2,5,6) (D)
f(A,B,C)=2(0,3,4,7)

24. [ ) AR £ (x, v.2) = xyz + xyz + xyz + xpz AL R fE 2
(A) yz+yz (B) yz+xz (C)z (D)y

25. [ ] Fiths# X = A + ABC + ABC ° [ X = 1 (i ASH &AL A %08 2 [109 ££]
(A)4fE (B)5fE (C)6fH (D)77&



